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The domestic vehicles purchased graph shows that the age range of 45-49 purchase the most domestic vehicles at eight, whereas the age range of 30-34 purchase only one vehicle. The linear regression line shows a straight line with a negative slope, which indicates that, more of the independent variable results in less of the dependent variable.  The linear regression line looks like this: 
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  Below is the equation to solve for x:
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The foreign vehicles purchased graph shows that the age range of 40-44 purchase the most foreign vehicles with a total of 11 vehicles, whereas the age range of 55-59 purchase the least amount of foreign vehicles at three.  The linear regression shows a straight line with a positive slope.  The linear regression line looks like this:  
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  Below is the equation to solve for x:
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